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The shaded square in the grid below is the answer to
a multiplying fractions question.

What was the question?
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The shaded square in the grid below is the answer to 

a multiplying fractions question. 

 

What was the question? 
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Match the equivalent calculations.

1/4 x12/13

VAN

1/6 x12/13

VAN

1/2 x12/13

AN

1/3 x12/13

32

12/13 + 2
12/13 + 6
12/13 = 4
12/13 = 3
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Match the equivalent calculations. 

 1/4  × 12/13 

		

 1/6  × 12/13 

		

 1/2  × 12/13 

		

 1/3  × 12/13 

		

 12/13  ÷

 2

		

 12/13  ÷

 6

		

 12/13  ÷

 4

		

 12/13  ÷

 3

		


image3.emf
Complete the missing integers.

15/16 = = 5/16
15/16 - = 3/16
20/23 = = 4,23

20,23 + = 5,23

White
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Complete the missing integers. 

 

															

 15/16  ÷ 

           

=

 

 5/16 

 

 

															

 15/16  ÷ 

           

=

 

 3/16 

 

 

															

 20/23  ÷ 

           

=

 

 4/23 

 

 

															

 20/23  ÷ 

           

=

 

 5/23 
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